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<41nth Element)dgub n sl 2 (First EIement)JjUng(Arithmetic Progression) xLﬁQL&Q
?d/nl.g/(Value) ;,J: d/ n <F» S,=860 /ﬁ'
31 (B) 30 (A)

40 (D) 41 (C)

+4(55405* (N repetition of Digits) SZ_ 1z (Digit) e 4t F5 14§ (Digits) Usss ol 0.1,2,3,4
?ugigL&:!ﬁ!zéfgéfLu(Two Digits Numbers)
20 (B) 14 (A)

16 (D) 12 (C)

J"lp(Perfect Square)wé/Jb/(On top of the die) 46;64;!£J!‘lf (Throw) U{!(Dice))gyg
€/ (Probability) J@162_s

1 1

S ® <@

5 2

© 0 S ©
¢l n(B) > P(B) = 0.75, n(5)=100 /1

75 (B) 25 (A)

35 (D) 750 (C)

;aJ,w.fu’f(Balls)qJ U—£/(White) 4~ 4 31 (Black)J¥ 3° (Red)l~ 2 Uk(Box) Jaw ]
(Probability of not getting Jl?"KLM;J‘%,&“QE/?‘(Selected)Uté‘M.Q(Randomly) & b
€l white ball)

3 4
5 6 5 @
1 >
5 © 5 ©
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d/b +c ¥ adbcd = a%b3ct = a2b’c2 sl a = 2. SUx AUI(Natural Numbers) :Wu’ii calab I

?Jnk@é
8 (B) 10 (A)
12 (D) 9 (C)
£yeli 03208~
¢€v (Y (Cube Root) ..,»O'.,,«gb/32197 1
7 4
B 6 NERROY
1 6
65 () 13 ©

ednl (Value) = § x o ¥ =5.37+217+17.89-832 J]
17.15 (B) 17.12 (A)

17.13 (D) 1714 (C)

?Jng(Value)cJ:d/x g32x +9=2x3 J
-2 (B) 1 (A)

-1 (D) 2 (C)

(Average sl (in English and Maths subjects) uﬁWdz/ﬁ/;'u:’g/L(Student)(k_/wvg
$4:°89 (Average Marks)c,'/:)b«ﬂui’(in Hindi and English subjects) ui'Wdz/gde 76 ° Marks)
f(‘uww?ugm (Average Marks)c,!/,)»;! (in Hindi and Maths subjects) Juﬁng;m
_ug(Received)J’lp(Marks)c,!/:)(How many)iui’ (Subject)u;‘z’(Maths)ubg/

76 (B) 89 (A)

83 (D) 71 (C)

MJVi?LaJVlOuUV 14 (Respectively)—= 7| (Present Age) qf/uﬁfd/'zbw’&}
?JLtgn 5:4 (Ratio of thei ages) :«»;’U/u;/d/ul(After how many years)
5 (B) 4 (M)

6 (D) 8 (C)

10
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»1 (Selling at a particular price) ‘atfit/oijfgéé:’Jﬂg.g (Goods)/gvg (Shopkeeper).L£ €
_w;//g (Printed the price increase by 25%) _+Qu;£/9u' 25% Lcwgu/(i(Price) @fu’w
(Selling eéw,}/,teéu/lu’wﬁu b/:?‘alz: (Discount) &% 20% J/(Customer) VF%;&;L//
¢1y (Difference) 03 d & land Price)

10% (B) 5% (A)

3% (D) 0% (C)

L“/(Selling through agent/broker).:,é;/'&/’éJU;,,Q(Goods) JLE/?L;/ 9200 (Farmer) uuﬁg
?JL(Amount)ﬁ:fg/ (Broker) JUs¥ 5%, s(Commission) $152% < I
1100 (B) 1800 (A)

184 (D) 1953 (C)

< b (Profit) ('f 15% Lﬁf%‘%lz:(Discount)bu{d/ 8% (Shopkeeper)/u:E{:g(ltem/Goods)/gyg
?d/nl[(Cost Price) d,“;’uﬁ@ffiju b/;/gu?n%u 1750 (Printed Price) c.oguf’:d//“zw/;!
1500 (B) 1400 (A)

1450 (D) 1350 (C)

-2kl 70 21=£30 (9th Data Value) /£l 9 U1/ 1< 40 (Mean) <{+¥ (Data) Us/£100
<L #(Remaining data were same) ufllgé/dtcé;gztéjl.@gz;!(instead of 30 itis 70)
€Y (New Mean)

44.4 (B) 40.4 (A)

44.04 (D) 40.04 (C)

S 7 a8l -2 (Roots)/,ZgL(Quadratic Equation)oblxdf/‘/:; ui’J:;’Zw
x2-5x=14 (B) X2 +5x=14 (A)

x2-5x+14=0 (D) x2+5x+14=0 (C)

12

13

14

A5
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»ﬁ’UJL(Homogeneous Linear Equations)ui’"bl/(fim aix+bqy=cq, axx+boy=co ,f,/u‘/

?Zu;f(lnfinite Squtions)J’
“_h_a a_h e
a b, c (B) a, b ic (")
2 b G 2 b G
o a b
=t (D) 275 ©
2 D

=8 Sk 9w f6 ax - 3y = -11, 4x +3y =19 (Homogeneous Linear Equations) u?bl/ubﬂ/'”c (k,5) A

ne
1 (B) 1 (A)
e St (D) 4 (0)

ﬁfnlf (Factors) Q/L"Z!d/3x2 - 4x + 1 =0' (Equation) < lsl~
(3x-1) (x-1) (B) (x-3) (x-1) (A)

(Bx+1) (x+1) (D) Bx+1)(x-1) (©)

wa/JUWV 2 < (Ratio) 2:7 .w;jd/(Present Ages) u;/uﬁrd/ul,d/umig}
?La(j?/ (Present Age) /wzrd/ g}?J Z_l»1:3 (after 2 years the ratio of their ages)
5 (B) 10 (A)

4 (D) 8 ()

b/u;/d/u!(S years ago)%JVS -« (More)ssLiJi- 23 = (Half) JAL(Age)/d//b‘(Age)/d/u!/
?‘al[(Present Age) /wzrd/ )/ b?u;/ JL-55 (sum of ages) Py
28 (B) 37 (A

29 (D) 36 (C)

¢ (Select the correct statement) ae;uy.é?,ut J: 3

3
°nl

NNZ=17 () NUZ=N (p)

Z.cN (p) NcZ (c)

A7

18

19

.20

21

22
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233 /U s fIA3120,000 <lisse g a5 313 (Newspaper Agency)J{d//gitug

/;L‘aL"L(Profit) 8).%;/24/?1/;4;1?9&/ (Selling 20,000 newspaper daily at a rate of 5 rupees)

s Jess JUAS 13 (increased by x rupees)i bl ze— <1 X (selling price) T
_a laébfo}&)c;o}&l}@'f d//LéL (Sales decreased by 2000 X daily) Jnu{ d/ 2000X

S‘%gu’”{(}r(Selling Price) &;}Q&?léé (To get maximumprofit)

9 (B) 6 (A)

8 (D) 4 (0

f< Onto (Surjective) ‘(function) J‘ Lajvu)fz_ui’dj;'

n if niseven

f:N—)N,deﬁnedasf(n):{

n+1 otherwise ()
n if nisodd
f :N—>N,defined as f(n)= ()
2n otherwise
0 ifnisinQ
f :R—>N,defined as f(n)= T ©
1 otherwise
r if niseven
f :N—>N,defined as f(n)=42 (D)

n+1 otherwise

f<(Irrational Number) mu"l’t/,-f (Which Number) szu/z_ui'J“:'

ke (3+35)(2-245) g
3+\/§

1
$3 ) 5 ©

?Knéduy.vulauus@g AVB=ANB [ 1 AUi(Sets) s Bl AL
A=B (B) Either one of A or B is empty set (A)

A is proper subset of B (D) B is proper subset of A (C)

S 25 x(Subsets) u’)&/p{;'g/L(Two Distinct Elements) 6/l 9w A = {1,2,3,4} A
4 (B) 6 (A)

3 (D) 8 (C)

23

24

.25

.26
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AN(BUAY = _(Sets) U¥nidY B oA S
B (B) ATOB (A)
Empty Test (D) AVB ()

420 o1 75,28 (Per day)wsed A~y (Job) §/94 (Shops) s 6sil%sB sl A (Friends) s
-ugZJ‘.%uMO (for selling every item) 4L/.:,é)/'/g/; (In addition to) MU&L%M (Daily Wages)
(In addition to) uu&L%;MOO (Daily Wages)o!}i//"’”d/u I (Per day) u:/;/ B -(getting 240 rupees)
S Sslad_ B sl A - (for selling ever item getting 180 rupees)ugé,%;ASO{L/&;/'/g/z)

(Earn equal amount per day)ufltfﬁ:/.'/.u:/zéé;'m (Sold equal number of items)d/.:»';/}?!uﬁ
¢ (After 30 days how much items they sold)JUnJ&;};?iu;(L.{iﬁwéu;uf
48 (B) 90 (A)

93 (D) 80 (C)

¢ UstlS (Sets)U¥5B.sl A JunB X A = {(4,5), (4.6), (5.,5), (5.6), (6,5), (6,6)} /1
A={5,6},B ={4,5,6} (B) A=1{4,5,6}, B ={5,6} (A)

A={4,5,6}, B={4,5} (D) A={4,55},B={4,56} (C)

_‘g(Purchased)L",yj(Printing Machine)d.‘?.,@/?uﬁ%uS0,000 (Publishing House) u’fg_f“k.g
de?jl-taglgnlo,ooo 3~ (Price of Machine)c,ogg!df?(at the end of 5 years)/?(ﬁ‘b'lLJVS
(Loss in the uuﬁ%uw:.;&!u?”?n (Decreased in the price of machine is linear) Jiu{;ﬁ.;é
8w price of machine every year)

10,000 (B) 6,000 (A)

8,000 (D) 5,000 (C)

?n/?(Distance)ysﬁ(Units)é5/15 £(Axes)Usfe (Origin) i 4»#2< L (Points) i Vel | R A
Chvrir e A 50 (Set)eraR

R={(50), (0,5). (-5.0), (0-5)} (B) R={(50), (0,5). (-5.0), (5.5)} (A)
R={(5,0), (5.-5), (-5,0). (5,0)} (D) R={(-5,0). (0.-5), (-5,0), (-5,5)} (C)

.28

.29

.30

31

32
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N.s/IM LLEF/(L MP:PN = 2:1fﬂat“/(:‘yui’ql'}'c/w!/MN' (Line Segement) 3245 P (Point)ﬁl@

~Emr 1234 131 33 WS 3 ouar I (1,-1) 291(-2,2) 5P (Coordinates) sl

0.1) (B)
(1,1) (D)

¢L UxlS (Coordinates) s P L5

0,0) (A)

(1,0) (©

e (10) Bl P L2 gE o (Slope) w3 (Line) s

4
S ®)

-1 (D)

4
@

1 (C)

_;jfpl’“‘(Distance)JfG&y»HOx +6y-14 =0 sl 15X + 9y + 14 = 0 b2

35
234 ®

234 (D)

(3sinx —2)5°* 2105 (B)

~3s5in x5 " log5 (D)

er
3 [2sin3x—3cos3x] (B)

2x
3 [-2sin3x+3cos3x] (D)

35
W @

5
334 (9]

d_y:??ny:2at2,x:at4/;¢
dbx

1

; (A)
1
) (®)

d 53cosx—2 -9

dbx
—3si 3cosx—2
sin x5 log5 (A)

3sinx 5> 2 og 5 ()

Iezx sin3xdx =?

er
3 [-2sin3x—3cos3x] (A)

er
3 [3sin2x—2cos2x] (C)

33

.34

.35

.36

37

.38
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a
a”—x" ——sin
2

/ .1 X
X az—xz —CIZSlIl e (D)
a

2

ex

(x+37 ®

e2*2

x+3 O

I a’ —x*dx =9

2

—va —X

Y Ya* -+ sin ' X ()

a 2 2 a

x\/a2 —x? +ad? sin_lz (€
a

Iezx X+2 dx =7
(x +3)?

er

(x+32 @

er

(x+3) ©

BOF V}rﬁz"ﬂ_‘a@dRent)g}}_(Rental Company)d{f/f Lirfid L u»»fv!
12 4%%;{&;@&}3}{100%u;/;ui'gﬁ‘a&;:{(on rent),:!/z_.,wé%uSOO (per day)
L“/&JJBE{/%K 500/;!4;@?/ V/"r(v!_ (Charge 2 rupees per km after first 100 km) ‘ag}":} d!/

??nt;,;f&f(How much rent he has to pay) ,:i//ti'fai?n (Travelling a distance of 500 km)

1200 (B)

1400 (D)

1000 (A)

1600 (C)

_épj‘”(Determinant)_/G‘@/ §'A '(Matrix) u’}l.fd;

13
A=[3 1
1 2

12 (B)

10 (D)

[OSIEN S I 9]

12 (A)

6 (C)

.39

40

41

42
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G2l e Wl F 46 = 43 sl 1 (50 5o

5

'lr.ufﬂv-h} =

Y1 Scale : On Y-axis, 1 cm=Rs 200

10001 AL
¢

800 =

600 T

400+

200+

b] i.-dr‘

‘:-"fl-s o -
Eap Ln W Gl x

E

155

¢ (Difference) ¢ (Saving) %J@LJ{W@AJJ@)
800 (B) 600 (A)
400 (D) 200 (C)

?‘a&“f (saving) s SUer L AL WKl

700 (B) 600 (A)
400 (D) 500 (C)

o (P (saving) =g JE b (Saving) e 5 S L
400 (B) 300 (A)
200 (D) 500 (C)

6 (Mean) .24+ ¥ (Saving) %JJ@&@;LJJ&(Q@
400 (B) 300 (A)
200 (D) 500 (C)

Cos480 - sin420 =2
1 (B) -1 (A)

5 O 0 (©

10

43

44

45

.46

47
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(Common Differene) J}fj}'lS (First Element) Jjufgb/(Arithmetic Progression) xLﬁQL?u’K/’;'
?d/ngc»’: n %0 (nth element)dgub n sl -3
6 (B) 12 (A)

10 (D) 15 (C)

?‘a@/ (Mode),:/.'-:”/ K (Data) <=2 19, 19, 18, 27, 25, 26, 25, 14, 15, 20, 25, 29, 20, 15
20 (B) 15 (A)

25 (D) 19 (€)

219 LS 46 (Mean) . 831wl6 — U150 (Mean) .4+ (Numbers)sLe! 7

6l (7th Number/element)

54 (B) 64 (A)

84 (D) 74 (C)

_‘a/.'/.é ------------------ Gigabyte

1024 kilobytes (B) 1024 bytes (A)
1024 x 1024 bytes (D) 1024 megabytes (C)
?‘Lu’u:(d/}fﬁcqcu:d;’@ﬁ

Cache Memory (B) Secondary Memory (A)
uﬁﬁfr_uﬁui (D) Auxiliary Memory (C)
_gt'l}/)( ---------------------- J}‘{gu"'IG

Nibble (B) Word (A)

Byte (D) Memory Block (C)

‘et (store) 5P L IS U e Ut st
Binary Form (B) Decimal Form (A)

Hexa Decimal Form (D) Octal Form (C)

11

48

49

.50

Sl

.52

.53

.54
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?LL ) VU}J/L— e J:;’ (OB z é'/}f’"/)'d/}‘f

Memory is temporary and Storage is temporary (A)

Memory is permanent and Storage is temporary (B)

Memory is permanent and Storage is permanent (C)

Memory is temporary and Storage is permanent (D)

e (Ui L8 IS o Sy JubraS ST e S 5a

OR (B)

NAND (D)

AND (A)
NOT (C)
_“‘4}( Match :U: Souh

(a) First Generation

(i) Transistor

(b) Second Generation

(ii) VLSI microprocessor

(c) Third Generation

(iii) ENIAC

(d) Fourth Generation

(iv) Integrated Circuits

a-ii, b-i, c-iv, d-ii (B)

a-i, b-iii, c-iv, d-ii (D)

00110100 (B)

00101100 (D)

PASCAL (B)

PYTHON (D)

a-iii, b-iv, c-i, d-ii (A)

a-ii, b-i, c-ii, d-iv (C)

_La(CompIement)JféJﬂOOlOll /t}u’/"/;

10101010 (A)

00110101 (C)

< Application Software L/U}J/L o Jn BRI

Microsoft Office (A)

FORTRAN (C)

_La;iﬂf;if/d/u’ﬁ’“ii'g/smre S Three Digit Decimal (f/u’(

9 (B)

7 (D)

12

8 (A)
10 (C)

.55

.56

57

.58

.59

.60
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S bl

Sectors (B)

Heads (D)

Words to bits (B)

High level language to Machine level language (D)

Printable Data Format (B)

Printable Document Format (D)

eBay (B)

twitter (D)

Net Ethics (B)

Net Morality (D)

Graphics Information Format (B)

Global Interchange Format (D)

ROM (B)

TCP (D)

Internet Explorer (B)

Open Office (D)

......... ‘»:y’uﬁj,y./&%tlggﬁ%ﬁracks LC;’L;..Q

Clusters (A)

Vectors (C)

_‘awj‘a“f}:}ww}g
Characters to bits (A)

Machine language to High level language (C)

-e ¢ PDF
Portable Data Format (A)

Portable Document Format (C)

?‘a s Q/J; ¥ L/U}J/L e J: BRI
Amazon.com (A)

gmail.com (C)

-LLL"L?%(- ---------------- /" Internet Ethical Protocol
Net Protocol (A)

Netiquette (C)

- A K GIF
Global Information Format (A)

Graphics Interchange Format (C)

< LT — J/BIOS ‘Lt“ngm.uff",ﬁ;‘/_,e

RAM (A)

CD-ROM (C)

?Lauﬁ} Open Source Software Vufc;uf.' J: BRI

Apache HTTP Server (A)

Fedora Linux (C)

13

.61

.62

.63

.64

.65

.66

.67

.68
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e AP f:;ugja; qi?u"ﬁd/d/fff{f,fa;%/é‘ufc ui'J“;',?/ﬂ

Secondary Storage : RAM: Cache Memory : CPU Registers (A)
CPU Registers : Secondary Storage : RAM: Cache Memory (B)
Cache Memory :Secondary Storage : RAM: CPU Registers (C)

CPU Registers : Cache Memory: RAM : Secondary Storage (D)

?Lalg?tb/Web Page Address

URL (B) Directory (A)
Domain (D) Protocol (C)
_:L:f Match :U“ Souh
(a)Save document () Ctrl +H
(b)Find and Replace (ii) Ctrl + W
(c) Close document (i) Ctrl + F
(d) Find (iv) Ctrl + S
a-iv, b-i, c-iii, d-ii (B) a-iii, b-iv,c-i,d-ii (A)
a-iv, b-i, c-ii, d-iii (D) a-iv, b-iii, c-ii, d-i (C)
?‘LL“/C,cui‘L/;f.}_%/}%KU;LNL/.,CQ,L?/?, T’"/j{ ------------------ L
Word Processor (B) Spreadsheet (A)
Presentation Software (D) DTP (C)
T — 419715 Ak Intel
Ted Holf (B) Blaise Pascal (A)
Howard Aiken (D) Charles Babbage (C)

E-

. . . 2 @7
T :»ﬂ*ug&f lu@ Lﬁ(

banking (B) E-learning (A)

e (D) Chat Service (C)

14

.69

.70

71

72

73

74
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G ngLnHigh Speed Storage Elements (~ALU LComputer 4/;5(&
Registers (B) Semiconductor Memory (A)
Magnetic Disk (D) Hard Disk (C)

_‘a/.'/.é (1E.43)15 Hexadecimal Number
(36.206)5 (B) (36.506)5 (A)
(35.206)5 (D) (35.506)g (C)

et L(§ Father of Artificial Intelligence =510l
Alan Turing (B) Howard Aiken (A)

Herbert A. Simon (D) Charles Babbage (C)

-‘at"nuﬁUW'Symbol Lode Ui 38Uk Flow Chart
Circle (B) Triangle (A)

Rectangle (D) Diamond (C)

e L/ Code Red
Virus (B) Antivirus (A)

Application Software (D) Photo Editing Software (C)

S« LEExpression L/U}J/L e J: Sousn
1®1®1=1 (B) 1®0=1 (p)
1®1=0 (D) 1®1®0=1 (C)

?Lat“/'/ d/,«‘/V'd/ Billion Characters VU}J/LU: Jn Soskt
Megabytes (B) Gigabytes (A)

Kilobytes (D) Terabytes (C)

?‘athW'“iLProfit Business dﬁ)fVU/Lu:J“i.?/ﬂ
.edu (B) .net (A)

.com (D) .org (C)

15

75

.76

A7

.78

.79

.80

81

.82
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-‘atlgtgﬁ:fuﬁf"wf Information Bits U 34 |
Nodes (B) Signals (A)

Symbols (D) Cubes (C)

?‘auﬁ;Computer Langauge JU[LU:J“5g/ﬂ
PASCAL (B) UNIX (A)

FORTRAN (D) COBOL (C)

Q‘Lt'bg“iLLLfL—JLU:JJQJM}((VJ)%J“{L}JJUW’g)’)//b
Fire Attacks (B) Virus Attacks (A)

Unauthorised Attacks (D) Data Driven Attacks (C)

_‘at“tgbf- ---------------- S Errors LbLnuﬁ’uW}%L}Lﬁg{

Bugs (B) Follies (A)

Spam (D) Mistakes (C)
?‘ar_uf Symbols Lﬁ/d“f“ﬁv?f

0-7 (B) 0-7, A-F (A)

0-15 (D) 0-9, A-F (C)
V‘L&L?JL .................. &w&jﬁé%’/’il

IP Address (B) E-mail Address (A)
e (D) Street Address (C)

?‘at’;{cq/L«u:{cuﬁd:‘gﬁ:ﬁ? X ¥y < Number L1 (y)x A

(1111)g (B) (1111); (A)

(1111)16 (D) (11111)19 (©)

—e A HTML

HyperText Manipulation Language (B) HyperText Markup Language (A)
Hyper Text Managing Language (D) HyperText ManagingLinks (C)

16

.83

.84

.85

.86

.87

.88

.89

.90
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fe uf."UL“fd/ Malware L/u/:_ e Jn Souun

Worm (B) Virus (A)

Trojan Horse (D) Browser (C)
e ey Vu):; e J“ Souun

(17)10 =(17)g (B) (17)10 =(17)16 (A)
(17)10 =(10111); (D) (17)10 =(10001); (C)
_‘at'/&t}?d/- ----------------- X‘QJ;{(}.")V;QJU/’G

(S) Individual computer (R) Fire (Q) Network (P) Server
(Q).(S) (B) (P).(Q) (A)

(P).(Q).(S) (D) (P).(R).(5) (©)

-L“/uf.’fdi‘/bfd/ Exclusive-NOR Ly IS L/U}J/Lu: Expression Jn BRI
xOY (@) Xy+Xy" (A)
XDy’ (D) X’ @y ©)

?‘a =y /d//}:/ ‘/)”uj'gf ))’J/‘// P J.. Soskt

Disk (B) Register (A)

Main Memory (D) Cache (C)

-LLL"L?[/;(- ---------------------- 4 Permanent Memory d//",:p‘/

CD-ROM (B) RAM (A)

CPU (D) ROM (C)

P T— M §RISC

Risk Instruction Set Computer (B) Reduce Instruction Set Computer (A)

Risk Instruction Sequence Computer (D) Reduce Instruction Sequence Computer (C)

-LLL"L?%(- ---------------- 463 FStep-by-step LL/J’:Q?U/(
Algorithm (B) Flowchart (A)
Table (D) Graph (C)

17

91

92

.93

.94

.95

.96

.97

.98



M.C.A/E.T/2022

¢L0t AVI Format J

Apple (B) Microsoft (A)

e St (D) BM (C)

?Lattwa;L ------------------------ Unicode Standard

Font (B) Keyboard Layout (A)

u.'?ﬁf:_ui'u' (D) Character Encoding System (C)
PAQAQAS
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